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Roll Number

Candidate Name

Venue Name

Skymoon IT Point Pvt. Ltd

Exam Date 16/08/2021
Exam Time 12:00 PM - 1:00 PM
Subject Combined Graduate Level Examination 2020 Tier 1

Section : General Intelligence and Reasoning

Q.1 i IR qof-ag faw e & REd & & fredt Tedf o ve aum € 3R 39 | ue SR
B 3 3R qui-Tgg HT 9G4 B

Ans X 1.EMNK
X 2.BTGN
3. FJaL
X 4.IDWG

Question ID : 81616113113
Status : Answered
Chosen Option : 2

Q.2 fIu Y faeedl # & 97 SigR g o FRufaf@a saar A wufig (7) & ®E W smm?

B,E,G,J,L,?
Ans X 1.N

X 2.Q
& 3.0
Xap

Question ID : 81616112513
Status : Answered
Chosen Option : 3

Q3 @qqu;ﬁmmmawﬁaﬁ?asﬁmgﬁahmﬁum(?ﬁsmwaﬁ
?

22327
18245
32407

Ans X 1.4
X 2.12
X 3.10
& 4.8

Question ID : 81616112923
Status : Not Answered
Chosen Option : --
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Q.4 1 IR Fen-gw Ry T § Red § fF et el A te wwm § ok 399 @ w eria
B I SRATT TSI HT TG B |
Ans X 1.256:61
X 2.169:55
o 3.324:64

X 4.289:70

Question ID : 81616112215
Status : Not Answered
Chosen Option : --

Qs %ﬂ?ﬁwgﬁwﬁﬁqwﬂaﬁ%wmﬁaﬁm%mmﬁ%mmﬁ
!

1. Umbilical
2. Urgent

3. Unaltered
4. Umbrella
5. Unanimous

Ans X 1.1,4,2,35
X 2.4,1,53,2
& 3.1,4,352
X 4.4,1,352

Question ID : 81616113112
Status : Answered
Chosen Option : 3

Q.6 TrdtT fagl @1 98 98 3w g4 o wfie ¥ & * fugl & RN R W IR W
Tefteor wgfera g s
6*10*55*162*9 =23

Ans X 1.x = - +

¢2_x,—y+,+
X34 5 x
R

Question ID : 81616112218
Status : Answered
Chosen Option : 2

Q7 g e el & & 95 wBn g4 of Fufafead e § yufug (7) $ ' w s
5,13, 22, 34, 51, 75, 108, 152, ?
Ans X 1.290
o 2.209
% 3.203
< 4.230

Question ID : 81616113122
Status : Answered
Chosen Option : 2
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Q.8 w%mmmaﬂﬁqﬁﬁmﬁ%nmaﬁﬁu%&hﬁﬂﬂ%—ﬁﬂm&ﬁ%
HA GBI

ITSTYTE : HETeT et
Ans X' 1.@?{&[:§Eﬂ1ﬁiﬁ
o 2. faorg u1e : a1 JgTgR TRt
X 3. Tifa g ; i T
X 4. e = ;o e

Question ID : 81616112510
Status : Answered
Chosen Option : 2

Q.9 faft fafkry et & ‘ALPINE' &t 171’ & U H 3R ‘SPRING’ F! 83’ & U & Heas
forar wTaT 81 @Y I UTT § ‘CAPITAL T ) Feag $ar Smem?

Ans X 1.93
& 2. 186

X 3.62
X 4.124

Question ID : 81616112209
Status : Answered
Chosen Option : 2

Q.10 f3E T HYFT 3R Fepul B = A US| FyT A & T TGN B Td A g, HA g
g T U 9§ §1d Tt I Fim wdia g, Auifya &3 & $19 3 freed fog e sy=i &1
A U F SFA0 HA 81

DY
W} e, AUty
'W! |
FIg Mt HugeR, FEfe® AL B

forepd:

I. : I

1. S oft gréfew, dueiu Tdi 21

Iv. 94t O9-g154, Pefiucd e g
Ans X 1.%had Y || SFERU HRaT &

X 2. Faa e 1 IR BRaT R
X 3. Pad ey | 3RV HRAT ]
4. Haq s 1V SR HRar §

Question ID : 81616112919
Status : Answered
Chosen Option : 4
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Q.11 gqmﬂzﬁmmqﬁmamﬁsﬁvagmgﬁﬁhwﬁg(?)%mwsﬂm
?

61114
837
62 47 89

Ans X 1.4
X 26
X 3.15
& 4.5

Question ID : 81616112217
Status : Answered
Chosen Option : 4

Q12 o & arr # o sror-are Rufae o 8 £ e o Be AT, NG SO, 'WE', 'GO'
AT TO' 3fra R = &1 a7 weg g ST eE TO' A Bee F RAOd GAd 9 HITE

T0 WE

WE  |AT] IN G

Ans X 1IN
v2 GO
X3 S0
X4 AT

Question ID : 81616112222
Status : Answered
Chosen Option : 2
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A3 o7 37 @ T o e AU % i & Gey w1 wed wor AT #ar B

theelt, o, g

x 2.

LD
O

e @O

Ans

Question ID : 81616112933

Status : Answered

Chosen Option : 3

Q.14 =it fafry ¥ 'MORBID' & 'THGMID’ & &4 H forar oirar g1 Y IS¢t wrer &
‘OBTAIN’ &1 &4 forar smemm?

Ans X 1.JOFGSD
X 2. JGOFDS
« 3. GJFOSD
X 4. GFOJDS

Question ID : 81616112915

Status : Not Answered

Chosen Option : --
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Q15 frw wrv fwest & ¥ 97 gl T o PeRf@m gwer F weafres (2) F waw T s

é —0

= ==

o

O\

[T

Ans

F
ﬁ\o
xs .\—C/
)

Question ID : 81616113129
Status : Answered

Chosen Option : 4

Q.16 fau 7T faweul & A a8 aui-agg g ot Fafrfad o & wafug (7) & == wR smem?
GCB, JHE, MMH, PRK, ?

Ans X 1.SXM
« 2. SWN
X 3.TXO
X 4.RUM

Question ID : 81616112505
Status : Answered

Chosen Option : 2
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Q.17 A T # FES F O gs F A o HA AR 5H qE T S T FE w1 o geiar
¥ =0 P P @ee W AE AT "Eem?

TILT | 3

Ans

|20
(kede

[\\

o0

o0
o0

< 3.

>

X

N
o0 |00
o0 o0

oo
o0

Question ID : 81616112528
Status : Answered
Chosen Option : 2

Q.18 far &Y aefar oy I9F 98 77 A 19 T 31 IR a9f & are, fran 3t amyg, Sud SR g7
ﬁmuﬁﬁﬂmﬁmﬁa%gasﬁvﬁ%gﬂﬁaﬁqﬁmmsme:g%,aﬁmaﬂ
AT 3myg frat 82

Ans X 1.329¢
X 2389
& 3.36T
X 4. 4279

Question ID : 81616112522
Status : Answered
Chosen Option : 3
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Q19 gfy dor w1 & o1 amgia § AR’ T @ AT § A A # wEr gder s Tt A

Ans

1

x 4.

A

B

J

a

A

5

v
1€ X A
d

C

D

A

Question ID : 81616112527
Status : Answered
Chosen Option : 1
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Q20 & & yrgfy & ao £ TEA WT HEAC| @A F o A T )

|

an

5_/

-
—

Ans X116
27
X3 9
X4 5

Question ID : 81616112221
Status : Answered
Chosen Option : 2

Q.21 %gﬁmgﬁahmmﬁwﬁwm%ﬁmmmwwﬁwﬁm
|

oI : S :: U1 2
Ans X 1.3ds

2. i

& 3.5aad

X 4.d®

Question ID : 81616113115
Status : Not Answered
Chosen Option : --

Q.22 14 9R Feg 3 7Y & R A A bl e § ve g9 € 3R 37 A o SRiTa 7139
SR Mg BT T B
Ans X 1. IR
X 2. TR
o 3. T

X 4. e

Question ID : 81616112205
Status : Answered

Chosen Option : 3
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Q.23 Te fafy A Tora &1 ufvay Hara gU 3ord A gl a8 WY a1 3 9 o1 shalar g1 217
3T PT IoTd A FT WY 82

Ans X1 AT
X 2.8
& 3. 314l fuan, ar 9
& 4.a1al

Question ID : 81616112514
Status : Answered
Chosen Option : 3

Q.24 g5 e gA o A T | I yeR Haifta B, R yeR gudt Tem, uged wen
3R TS WEm, uradt Ten | Wafta B
15:135::16:?::18: 189
Ans X 1.121
X 2.131

X 3.141
& 4. 152

Question ID : 81616112921
Status : Answered
Chosen Option : 4

9/2/2021, 7:05 PM
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A2 a5 Rwew o s & 7% sy Wil ¥ (Al & g A Y

x 1.

Ans

%

Question ID : 81616112526
Status : Answered
Chosen Option : 2

Section : General Awareness
Q.1 Tag.E. (LED) Srefara® aob-ie § g o | ST uTg wgad &t ot 82
Ans 1. diaT
K 2.7
5 3.5l
4. Tferg

Question ID : 81616113141
Status : Answered
Chosen Option : 4
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Q.2 SRR st 2020 & Afgen Twa ot s #1982
Ans 1. Gifta B

X 2. I faferomy

X 3. TRETZT Gl
X 4. Ry 8T

Question ID : 81616112955
Status : Not Answered
Chosen Option : ==

Q.3 A A gia Jarer oft w1 T 72
Ans X 1. flaieTEHt

X 2. nifthifsag

o 3. TARIGBIE

X 4. SImrsd

Question ID : 81616112233
Status : Answered
Chosen Option : 3

Q.4 J 3o+ fayaeit SpfRY @1 gorla-g-agenTt & U & ardi & A | Fafid

fomam
Ans 1 SEdibE
X 2. 3-3-4IF Raasit
X 3. $ge-3e-¢F Uaw
X 4. I

Question ID : 81616112544
Status : Answered
Chosen Option : 1

Q.5 & I7 H UIgdat (PonuYoksi) ITH®, GUAR $1 ARE $ TP dTe-47 ST STANT JoTal

ERT T oM 918 3RS T4 & R
Ans X 1. fgHTEd UG
X 2. SR U
X 3. A U™
& 4. IBUTTA T

foar wirar ur?

Question ID : 81616112228
Status : Answered
Chosen Option : 4
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Q.6 TIH I P THRA TP 3 4T, o ¥ T T ST ST ATl
Ans X 1. HBABI

2. fet

< 3. g™

X 4. TR

Question ID : 81616112240
Status : Answered
Chosen Option : 2

Ans

Q.7 wRad 2021 H, HRA & &1 HATed A FI 83 §ob ASTE fAWH (LCA) dwrd & fmtor

% forg 31 fam
X 1. & STHY SR faPT e
2. Rg&M wRAIeey fafics
X 3. HRd geragied fafies
X 4. URd SrAfe fafies

Question ID : 81616113160
Status : Answered
Chosen Option : 2

Q.8

Ans

frafafaa & @ o1 a1 i 7ra @) 82

1. 38 I1a, S foreht ues safda ar TR & @t gRT T fosar ST g

X 2. IUHNT T TR ufdget 3R IR Sgasi-
% 3. Ryaeiar @y

X 4. 98 91d, S SUHNT &3 & forg Tt & R Iuaisy 81 8, 39! Ware fbu famn fs

YD oY YT BT § 3R B el IR B

Question ID : 81616112230
Status : Answered
Chosen Option : 2

Ans

13 of 32

Q.9 SHast 2021 ® fora=t AN 1wt faywor § wwt=a fomar wan?

S 1.7
X 24
X 3.10
X 4.29

Question ID : 81616113158
Status : Answered
Chosen Option : 1

9/2/2021, 7:05 PM
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Q.10 RIS gt HETEY (FIH) T YRTAT Bl SafAd 872
Ans X 1.9U@

2. RS

K 3.YH

X 4. sfieefem

Question ID : 81616113156
Status : Answered
Chosen Option : 2

Q.11 g & A S19-91 3 BTS g BT Rwwn TE 82
Ans o 1. DAIST

XK 2. sitegfer

X 3. HRd

X 4.9

Question ID : 81616112553
Status : Answered
Chosen Option : 1

Q12 X WIS SR Sl & Irdrar g i A 9gdl g3 Sivdl @) uradt 31
Ans X 1. SUDITT

X 2. 7ol garwifa

o 3. Td garepifa

X 4. RITRIRH (GERw fast-d deft)

Question ID : 81616112532
Status : Not Answered
Chosen Option : ==

Q.13 yfy oy &} fdaw oo qman @ 82
Ans X 1.630d

X 2,149
X 3.2 3FER
o 4. 14 T{dR

Question ID : 81616112934
Status : Answered
Chosen Option : 4

Q14 3Q 12T IA AT B dcd 9T UshHUI dcd BgT ST 8
Ans X 1. cwl®

2. &b

7 3. b-TiH

X 4. a-iH

Question ID : 81616112538
Status : Answered
Chosen Option : 2

9/2/2021, 7:05 PM
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Q.15 I gUea SFHARYY fFa YR Iy § T 22
Ans o 1. 39H

X 2. affezm
X 3. FAlcwh
X 4. fgw &

Question ID : 81616112236
Status : Not Answered
Chosen Option : ==

Q.16 3N A g W TG 7} 3N e HHua At & FH A T 7Y BT W |1 82

Ans X 1. GreRH!
X 2. gauRT
X 3. T9R
o 4. St

Question ID : 81616112540
Status : Answered
Chosen Option : 4

Q.17 A A | B FeWeR T AT (Interpreter of Maladies) TTHS [P B! AFJHT 82

Ans o< 1. e afd
2. FHI AR ST
< 3. 35yfa Mg
X 4. 3T ARR

Question ID : 81616112547
Status : Answered
Chosen Option : 2

Q18 Twgar waieH! & g safdmma ) &) e ofk 39 e 9t v faf¥r 31
Ans X 1 WIRIGER

% 2. RiedideR

X 3. ot

o 4. SMERideR

Question ID : 81616113147
Status : Answered
Chosen Option : 4

Q.19 g & | fram emewsl & ARTBTA § Gira! 3 HaT $T I FId gU AR T

A qeaw ot e
Ans X 1. 3§ qod
X 2. ggwg Ay
X 3. TAdG
o 4. FGHT STRI0T

Question ID : 81616112949
Status : Not Answered
Chosen Option : ==

9/2/2021, 7:05 PM
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Q.20 mwﬂuwapuﬁmwaﬁvmﬁwwmm(CPA)E%WW
g??w BT B 9T, 1949 W R URAH IS T (IPG) PT U (A& B gral
Ans X 1. Uy
< 2. Iuyufd
X 3.3mgufd
o 4. TAHIUT g

Question ID : 81616112549
Status : Answered
Chosen Option : 1

Q.21 g & A S URA & UYH IWIPUfa A2
Ans X 1. AR dobe AR

2. U AYTHUH

X 3. SR g8

X 4. TUTE WY UIS®

Question ID : 81616112245
Status : Answered
Chosen Option : 2

Q22 St fagH 9 ue wra @ o saw (Gt @1 sreaae farar W 31
Ans X 1. GRS

7 2. ATmTaTSH

o 3. ASaret

X 4. Hararst

Question ID : 81616112938
Status : Answered
Chosen Option : 3

Q.23 2021 # e ¥ A 5w 31 & qd vy &1 ger frymor e S awfd fear mare
Ans X 1. §feeR

X 2. ficde

X 3. 9urd

& 4. ST

Question ID : 81616113152
Status : Answered
Chosen Option : 4

9/2/2021, 7:05 PM
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Q.24 3rad AR H Jd IEEAS T@) § F Bad Y argvsey ufiRufeal # A
FUA B gl
Ans 7 1. 11
% 2.13
X 3.12

X 4.10

Question ID : 81616112941
Status : Not Answered
Chosen Option : --

Q.25 fm & 3 form o iy amyg Sty &1 Ry ok i~ fasar war?
Ans 7 1.1891

X 2.1834
< 3.1901
X 4.1889

Question ID : 81616112946
Status : Not Answered
Chosen Option : --

Section : Quantitative Aptitude

Q.1 WA TG 3T AEAE & HET F, JUH aW AR Tpiie §Ensd & ed # sgea A w4

Ans X194 17
X28:70
s3:7:8
X4 7 :80

Question ID : 81616112557
Status : Answered
Chosen Option : 3

Q2 s gra W wET fig A @, & T W@w AB #R AC i oS ¥ S wean fig B st C 9T gew &
T F €1 AB 3t AC W fig P it Q woen 3@ v fiuw ¥ R PQ 39 1 g R o wet
Fr &1 afg AB = 11 cm, AP = 7 cm 3R AQ = 9 cm &, a1 PQ f1 &1 (cm &) A9 F1I

Ans X 1. g
X2 7
X35
s4 B

Question ID : 81616112569
Status : Not Answered
Chosen Option : --
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Q.3 A R B, frdh =1 & wwer 15 Rt A 10 Bt & 9@ w w §1 3w @ a0 T oF e
afa 4 B 918, B w1 o1 &1 #1 B A, AT @R C & WY # we ge, O g A 3 e A
T HIAT I ARG C 3 F AT §, A 37 S8 FE & 40% S Ghae R W HhaT 87

Ans

X1 82
2

X2 8
%310
v4 9

Question ID : 81616112260
Status : Answered
Chosen Option : 4

Q4 2B ws 377 &1 v =urw ¥ g C ¥R D =ww AB ¥ fle wet W sw ven Tm E
£ACD =25°%| E, &g =19 BD W fua ve &g 81 <BED & AT (3o #) 71 &I

Ans X1.105
X2 130
X3 125
v4 115

Question ID : 81616112267
Status : Not Answered
Chosen Option : --

Q.5 qer, 210,000 F FogER Taw AT 35,000 F Hex o gler &) 9¢ FoAEL To FT 8% W W A=
T 9 T W 10% W 9eF H F e, 3 Hex daa @ fhae e e 9¥ d=er afge

Ans 5 1, 18%
X2 12%
X3 10%
v 4 14%

Question ID : 81616113166
Status : Answered
Chosen Option : 4

Q.6 fy F-3im areh FEAT 7p5964428, 88 ¥ TUIE: =T ¥, & q F H¥HAH AT F B, (p2-q) F
A T FY, @ p HR q wpfow wEE

Ans @ 1. 72
X2 81
X3 0
X4 9

Question ID : 81616112252
Status : Answered
Chosen Option : 1

9/2/2021, 7:05 PM



Firefox https://ssc.digialm.com//per/g27/pub/2207/touchstone/AssessmentQP...

Q.7 F¢ ufer g sue & AfPTT &7 9T, 3 T @18 714,880 3T 5 a€ @@ 16,800 & =ar 1 39 wfr
#F 3w 10% a1ffs =1 &7 9T 4 a9 & 9rog GRnT su= (3 H) AT #+1)

Ans X 1. 4860
X2 4740
v 3 4800
x4 5184

Question ID : 81616112259
Status : Answered
Chosen Option : 3

Q8 fTrmug =& A, B, C, D, E 3T F & Bea-ime oot # el Riggmerm & 87 X & 300 Remfdat &
gfererg AR Raeor &1 Rfa & B

aB

17%

& as aifesT A, B, C, D, E 3X F o fBea-fee 39t & Fa7W X & w=a! $r TEm Fr Zudr 8

En A B (s} D E F
SHr Fr | 36 26 34 |28 X 20
FET

ofy ==t E &, wee Fr Fwr A Tt & FEw w agee 30 4 § & @7 E F wwe &r dww i
T C & wefort & dw & &= @ sgae A w5

Ans »1.18 : 23

X224 :23
X323:24
X4.23:18

Question ID : 81616113286
Status : Answered
Chosen Option : 1

Q9 A B 3t C ¥ gEmer, B FFET Tvg W 4,820 w1 Aew AT & §1 A, B ak C s
FEGHT FF FAW 20% AW 20%; 25% AT 15% FAT 30% HX 10%, FT FAFE TT W a9 &I R @
TFER AfEwas g e § T e @ ) @

Ans X1 B, 1,800
x2 A 1,735.20
xs3 C, 1,780

v4 C, 1,783.40

Question ID : 81616112962
Status : Not Answered
Chosen Option : ==
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Q10 7= sX 7% 2014 & 2018 3% 5 9 & 2= A 3 B Trye! & AT oemew & e aAitea
oTat # FET F g B

400 60 375
350 325
0] 300
250 =
a5 225
160) = IHRFA
s TYHEB

50
o

2014 2015 2016 2017 018
2015 3k 2017 # Tew B & FASd oE H For FEar AR 2014 3R 2016 F FEAw A F AHIRT

af
T BT T FEAT H A A F

Ans X1.92 : 137

B B

g

g

i B @ T
g

v2 137 : 92
X391 : 111
x4 111 : 91

Question ID : 81616113284
Status : Answered
Chosen Option : 2

Q1 ofy Bl B &1 vF P07 74° &, A 3T & HARE FIOT F GAG A F A F BT AT F
Ans 1. 16°

v2 127°

X3 106°

X4 53°

Question ID : 81616113177
Status : Answered
Chosen Option : 2

QA2 A ABCH AB =20 cm,BC =21 cm 3T AC = 29 em ¥l cot € + cosecC — 2tan A FT AT 71T FII
Ans 9

K=

20

2
V2=
3

20
3

x4 2

5

Question ID : 81616113786
Status : Answered
Chosen Option : 2
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Q.13

Ans

3 27 ¢
gfe 4x* —37x2+9=0,x > J; g ar 8x3—Fﬂ-TI'I|1FI'FI1F|'ﬂ-TTI

v1 215
X2 -215
X3 =35
X4 35

Question ID : 81616112265
Status : Answered
Chosen Option : 1

Ans

Q.14 1f2sin(3x—15)° =1,0° < (3x — 15) < 90°, then find the value of cos® (2x + 15)° + cot? (x +15)°.

X1
s2 =

X3 —=

x 4.

Question ID : 81616112270
Status : Answered
Chosen Option : 2

Ans

QA5 Trwenw, ReE AR ST g F P AT = 97| AdEE F Wl A 3 ) W F oFe e F
35% St B9 & SRS # Wedw 35 3T H ¥ 14 & B ) fFear # mew #4989 =6

=t $r e # 4950 dre st e &) Agee gu el S i Fo wer "

v 1. 33000
X2 13378
X 3. 38000
< 4.99000

Question ID : 81616112256
Status : Not Answered

Chosen Option : --

21 of 32
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Q1

" A & T aifE, 2020 & ReT FER & ke TR e
F AR FEANET ZaRT greg 37 (T #H) R 37F oww F
et @ g &

b=Ir FAT T IGIGGE TJTUT

Fad 35,000 | 38,500 | 29,000 | 42,000

TR 6,000 6,300 5,000 7,500

CIGE:] 1,000 1,100 1,000 1,240

HatersH | 1,800 1,950 1,400 1,500

TE0T T dw, dET AR BT dE & g aww @ e
gfaerd &5 g7

Ans X 1 A5
X2 48
« 3. 38
X4 409

Question ID : 81616112579
Status : Answered
Chosen Option : 3

Q.17 U FE, gAE 8 a wue A ¥ et § 3R a9EY 12 99 we B W S 81 UF FN g
8:30 o= Feurw B ¥ wert ¥ 3t =3 A W 58 wE o=t § A W 2w B 9T s §1
g ¥ B e e §2

AT X1 gag 10 : 22 &=
X2 GAg 9 : 52 a
X3.§ag'9:383?
v+ GEE 10 : 08 7=

Question ID : 81616112968
Status : Not Answered
Chosen Option : ==
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e 3§+[3§+{§(5§+14%)}] T AT AT FL
Ans x| g

X2 7

X3 8

v 9

Question ID : 81616113162
Status : Answered
Chosen Option : 4

Q19 &g 77 v 3T o F 79 A ¥, TOF 3R F w84 m 3K sEH S8 175 m ¥ 5w R A
SeraTE ¥ T A E| W e @ AN (o H) 7 Y (=2 sremEy)

Ans X 1. 1155
v 2 60.06
X3 60.6
X4 115.05

Question ID : 81616112565
Status : Not Answered
Chosen Option : ==

Q.20 cot® 8 tan® 8

cosec®d sec2@

Ans 1. cosecBsech
X 2. cosec?Bsec?8
X 3. sin?6cosh

X 4. sinBcosH

+ 2 sinB cosB

F STET g

Question ID : 81616112373
Status : Not Answered
Chosen Option : --

Q.21 fie=r ABC #, fig D, AB W fiwa & @ E 3t F, BC W 50 w#r & § % DF, AC % ¥omieR ¢
X DE, AF % TAEER &1 If¢ BE = 4 cm R CF = 3 cm &, & EF & &% (cm #H) =1 F11

Ans X 1§
v2 2
X315
x4 3

Question ID : 81616112572
Status : Not Answered
Chosen Option : --
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a2 uﬁ:a—§=1%, ST a>0%, ar a%i—jﬂﬂﬁﬂ?ﬂ?#l
Ans 1. 11

X2 15

X319

v 4 17

Question ID : 81616113172
Status : Answered
Chosen Option : 4

2 ey &r 75 arfer, 2016 & 2020 9% IR AEd F @ENT AT

ISt v TEar g
T | W | IEACERE | O RIeenra
2016 | 1800 2500 1800 2000
2017 | 2500 2300 1850 1800
2018 | 2300 2400 1840 1760
2019 | 2440 1950 1900 1600
2020 | 2250 2100 | 2000 1750

A 7 O e a¥ F gaw 318 93 oene It 9

Ans X1 2016
X2 2018
< 32020
v 4. 2017

Question ID : 81616112577
Status : Not Answered
Chosen Option : --
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Q.24 ez, s Teww GreraT § AR 3 T, T2, T AT 0 Tewa F BEH 100502 1 F A A
et afy wor 72 fows &, & fowl & &7 & Teem & T (2 F) 79 HY

Ans  x 1 79
X2 .90
<3100
v 4 160

Question ID : 81616112965
Status : Answered
Chosen Option : 4

Q.25 ofy (16v2x® +8143y%) + (2VZx + 3v3y) = Ax? + By? + Cxy &, @124 — 3B — 246 C & = =1 F1
Ans g1 7

X2 79

X3 137

X4 25

Question ID : 81616112971
Status : Not Answered
Chosen Option : --

Section : English Comprehension

Q.1 Select the option that can be used as a one-word substitute for the given group of
words.

A large bedroom for a number of people in a school or institution.
Ans X 1.Creche

< 2. Hostel
o’ 3. Dormitory
5 4. Assembly

Question ID : 81616112297
Status : Answered
Chosen Option : 3

Q.2 The following sentence has been divided into parts. One of them contains an error.
Select the part that contains the error from the given options.

“Would you liked / to have / some fries / along with your coffee, / sir?” / asked the
waiter.

Ans X 1. along with your coffee
5 2. some fries
#5 3. asked the waiter
«” 4. Would you liked

Question ID : 81616112278
Status : Answered
Chosen Option : 4
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Q.3 Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select ‘No substitution’.

Sholay is one in the most popular Hindi movies.
Ans X 1. No substitution

«” 2. is one of the most popular
/5 3.is in the most popular

£ 4.is one in the more popular

Question ID : 81616112281
Status : Answered
Chosen Option : 2

Q.4 Select the option that can be used as a one-word substitute for the given group of
words.

A group of people, typically with vehicles or animals, travelling together.
Ans X 1. Troop

& 2. Gang
o” 3. Caravan
25 4. Circus

Question ID : 81616112298
Status : Answered
Chosen Option : 3

Q.5 Select the most appropriate ANTONYM of the given word.

Harmony
Ans X 1.Accord

o 2. Conflict
< 3. Concord
X 4. Amity

Question ID : 81616113001
Status : Answered
Chosen Option : 2

Q.6 Select the most appropriate option to fill in the blank.

| read some of properties for sale on the Internet before | called the agent.

Ans X 1.spaces
< 2. arguments
#< 3. monologues

«” 4. descriptions

Question ID : 81616112301
Status : Answered
Chosen Option : 4
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Q.7 Select the most appropriate ANTONYM of the given word.
Elated

Ans X 1.Proud

& 2. Thrilled

/< 3. Excited

o 4. Depressed

Question ID : 81616113202
Status : Answered
Chosen Option : 4

Q.8 Select the option that expresses the given sentence in indirect speech.
The teacher said, “Man is mortal.”

Ans ¢ 1. The teacher said that man is mortal.

& 2. The teacher instructed that man was mortal.

#< 3. The teacher said that man was mortal.

#5 4. The teacher said that men were mortal.

Question ID : 81616112583
Status : Answered
Chosen Option : 1

Q.9 Select the option that expresses the given sentence in passive voice.
The postman had delayed the letter.
Ans ¢ 1. The letter had been delayed by the postman.
/5 2. The postman had been delayed by the letter.
#5 3. The letter had delayed the postman.
/5 4. The letter was delayed by the postman.

Question ID : 81616112279
Status : Answered
Chosen Option : 1

Q.10 Select the most appropriate meaning of the following idiom.
To the nines
Ans X 1.To great depths
«” 2. To perfection
#5 3. To be exalted
£ 4. To be jealous

Question ID : 81616113002
Status : Not Answered
Chosen Option : --

9/2/2021, 7:05 PM



Firefox https://ssc.digialm.com//per/g27/pub/2207/touchstone/AssessmentQP...

Q.11 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

The supervisor / wanted to known / the pros and cons / of the issue.
Ans X 1. The supervisor

#5 2. the pros and cons
/5 3. of the issue

«” 4. wanted to known

Question ID : 81616112984
Status : Answered
Chosen Option : 4

Q.12 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the right order to form a meaningful and coherent paragraph.

A. There are many secondary reasons as well along with increasing levels of carbon.
B. The term is used to describe the unnatural rise in earth’s average temperature.

C. Increased carbon dioxide is the primary driver of global warming.

D. Global warming is the single biggest threat to life on earth today.

Ans X 1.ACBD
X 2. DABC
X 3. ABCD
4. DBCA

Question ID : 81616113198
Status : Answered
Chosen Option : 4

Q.13 Sentences of a paragraph are given below in jumbled order. Arrange the sentences in
the right order to form a meaningful and coherent paragraph.

A. This awareness has motivated everyone to go for physical exercises.

B. These days people are more aware of their health.

C. In addition to physical exercises, some prefer taking health supplements too.
D. It is advisable, but one should consult a trainer/doctor before consuming health
supplements.

Ans 7 1. BACD
/< 2. DBCA
2 3.BADC
#< 4. ADBC

Question ID : 81616112997
Status : Answered
Chosen Option : 1

Q.14 Select the INCORRECTLY spelt word.
Ans X 1. Profuse

£ 2. Recluse
o 3. Luxuriaus
25 4. Virtuous

Question ID : 81616113208
Status : Answered
Chosen Option : 3
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Ans

The jungle was nearly

Q.15 Select the most appropriate option to fill in the blank.

, so the progress was slow.

«” 1. impenetrable
5 2. immaterial
#< 3. immobile

#< 4. immortal

Question ID : 81616112605
Status : Answered
Chosen Option : 3

Ans

Q.16 Select the most appropriate option to substitute the underlined segment in the given
sentence. If no substitution is required, select ‘No substitution’.

Much of the truth about the mysterious death of her pet was not revealed.

25 1. were not revealed
X 2. were not being revealed
#5 3. have not revealed

«” 4. No substitution

Question ID : 81616112585
Status : Answered
Chosen Option : 1

Ans

Q.17 Select the INCORRECTLY spelt word.

" 1. Pessymist
5 2. Fatalist

#5 3. Perfectionist
5 4. Optimist

Question ID : 81616113209
Status : Answered
Chosen Option : 1

Ans

Q.18 Select the most appropriate meaning of the following idiom.

Apple of one's eye
«” 1. Someone very precious or dear

#5 2. Someone who behaves courteously
2 3. Someone with great respect

#5 4. Someone who plays all sports

Question ID : 81616113003
Status : Answered
Chosen Option : 1
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Ans

Q.19 Select the most appropriate synonym of the given word.

Chaos

«” 1. Confusion
X 2. Dirt

#5 3. Tension
#< 4. Fusion

Question ID : 81616112594
Status : Answered
Chosen Option : 1

Q.20

Ans

Select the most appropriate synonym of the given word.

Rejuvenate
& 1. Retell
& 2. Retake
< 3. Reset
«” 4. Refresh

Question ID : 81616112595
Status : Answered
Chosen Option : 4

Q.21
Ans

Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of
the alternatives given. Select the most appropriate option for each blank.

It is essential to form a link between formal education and skill (1) . Multidisciplinary
and personality enhancement skills are the (2) requirements of every sector. Many
reforms are being (3) in higher education to co-relate academics to the (4) of
various service sectors. Innovative models can help to (5) the varied needs of skilled
and unskilled labour.

SubQuestion No : 21
Select the most appropriate option to fill in blank no.1.
< 1. maturity

«” 2. development
/< 3. progress
5 4. ripening

Question ID : 81616113193
Status : Answered
Chosen Option : 2
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Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of
the alternatives given. Select the most appropriate option for each blank.

It is essential to form a link between formal education and skill (1) . Multidisciplinary
and personality enhancement skills are the (2) requirements of every sector. Many
reforms are being (3) in higher education to co-relate academics to the (4) of
various service sectors. Innovative models can help to (5) the varied needs of skilled
and unskilled labour.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank no.2.
Ans X 1. external

X 2. domestic
< 3.needless
o 4. essential

Question ID : 81616113194

Status : Answered

Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of
the alternatives given. Select the most appropriate option for each blank.

It is essential to form a link between formal education and skill (1) . Multidisciplinary
and personality enhancement skills are the (2) requirements of every sector. Many
reforms are being (3) in higher education to co-relate academics to the (4) of
various service sectors. Innovative models can help to (5) the varied needs of skilled
and unskilled labour.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank no.3.
Ans X 1.related

< 2. improved
¢ 3. introduced
X 4. settled

Question ID : 81616113195

Status : Answered

Chosen Option : 2
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Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of
the alternatives given. Select the most appropriate option for each blank.

It is essential to form a link between formal education and skill (1) . Multidisciplinary
and personality enhancement skills are the (2) requirements of every sector. Many
reforms are being (3) in higher education to co-relate academics to the (4) of
various service sectors. Innovative models can help to (5) the varied needs of skilled
and unskilled labour.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank no.4.
Ans X 1.charge
X 2. urgency
«” 3. need

4. duty

Question ID : 81616113196

Status : Answered

Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Fill in the blanks with the help of
the alternatives given. Select the most appropriate option for each blank.

It is essential to form a link between formal education and skill (1) . Multidisciplinary
and personality enhancement skills are the (2) requirements of every sector. Many
reforms are being (3) in higher education to co-relate academics to the (4) of
various service sectors. Innovative models can help to (5) the varied needs of skilled
and unskilled labour.

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank no.5.
Ans X 1.met

& 2. meets
o 3. meet
5 4. meeting

Question ID : 81616113197

Status : Answered

Chosen Option : 3
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